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Calculus Practice: Differential Equations 2a

For each problem, find the particular solution of the differential equation that satisfies the initial
condition.
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1) dy =-2x+3,y(3) =
dx

A) y=x*+3x+1
B) y=x*+2x-2
C) y=—x*+3x+3
D) y=x*+2x+1

3 Y _4xs2,4(0) =
dx

A) y=2x>+2x

B) y=2x*+3x-3

C) y=-2x>+3x+1

D) y=2x*+X

5) ﬂ=—4x+2, y(1) =
dx

A) y=—X*+Xx+3
B) y=-2x*+2x+1
C) y=x*+x-3
D) y=2x>+Xx+2

7 ()=, Fo1) =

A) f(x):-%-2,x<o
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» Y _ax-3,y0)-
dx

A) y=2x*+x-1
B) y=—x*+x-2
C) y=2x*+x+1
D) y=2x*>-3x+1

4) W oy 1, y(-1)=-1
dx

6

8

-1-

M ade

A) y=2x*+3x+3
B) y=x*+2x+1
C) y=x>+x-2

D) y=—x*-x-1

) f'(x) ===, f(-1)=-3
A) f(x)=2In-x—-1,x<0
B) f(x)=—2In-x-3,x<0
O) f(x) —In—-x-2,x<0
D) f(x)=2In-x,x<0

) (0 =—, f(c1)=—1

A) f(x):—? +2,X<0

X
B) f(x):—%,x>0 B) f(x):—i—z,x<0
C) f(x)=— -3,x>0 C) f(x):i—z,x<0
D) f(x)=— -2,x<0 D) f(x):—%+2,x<0
1 , 2
9) f'(x)=——, f(3)=-In3-1 10) f'(x)=-=, f(2)=—2In2
X X
A) f(x)=-3In-x, x<0 A) f(x)=-In-x+3,x<0
B) f(x)=2lnx+1,x>0 B) f(x)=—2Inx+2,x>0
C) f(x)=—2In-x+3,x<0 C) f(x)==2Inx, x>0
D) f(x)=-Inx-1,x>0 D) f(x)=-In-x—-1,x<0
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11) f'(x)=- ! ,f(=3)=-In4
x—1

A) f(x) —1n(x+3),x>—3

B) f(x)=—In(-x+2),x<2

0] f(x):—ln( x+1),x<1

D) f(x)=—2In(-x+1)+2,x<1

3 12
13) f ,f(2)=—=
) = )=
A) f(x) 1 +2,x<1
B) f() +3,x>-3
C) f(x) “ +3,x<3
D) f(x) 2 +1,x>-1
X+1
15) f'(x)=-— ,f(2)=—2In3+2
X+ 1
A) f(x)=2In(-x+2)-2,x<2
B) f(x):—ln( x+3)+1,x<3
C) f(x)=—2In(x+2)+3,x>-2
D) f(x)=—=2In(x+1)+2,x>-1

17) % — _3sin X, y(g) )

A) y=3cos x—2
B) y=2cos x+1
C) y=-2sin Xx+2
D) y=-sin x+ 1

dy . T
19) —= X, yY|—| =
) o sin y(z)

A) y=3sin X+ 2
B) y=-—cosx+3
C) y=2sinx—-1
D) y=-3sinx-2
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12) f'(x)=-— L f(-2)=-In4+2
X—2

A) f(x)=-In(-x+2)+2,x<2

B) f(x)=In(x+3)-2,x>-3

0] f(x):—ln(x+3)+3,x>—3

D) f(x)=—2In(—x+1)+3,x<1

14) £'(x) _1)2,f(—1)=—2
A) f(x)zf—l x<1
B) f(x) —+1x<1
C) f(0)=—"7+2,x<3
D) f(x)=——— -3,x<3

16) ¥ _ 2in x, y(E) =341
dx 6

A) y=2cos x—-3
B) y=-2cos x+1
C) y=2sinX

D) y=——cos x+2

18) Y osin x, y(0) = -1
dx

A) y=—-2cos x+1
B) y=cos x

C) y=—2cos x-1
D) y=3cos x—-2

4+\/5

2

20) % =CoS X, y(%) =

A) y=3cosx—-3
B) y=sinx+2
C) y=sinx+1
D) y=——cos x+ 1

-
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Calculus Practice: Differential Equations 2a

For each problem, find the particular solution of the differential equation that satisfies the initial

condition.

1) dy =-2x+3,y(3) =
dx

A) y=x*+3x+1
B) y=x*+2x-2
*C) y=—x>+3X+3
D) y=x*+2x+1

3)ﬂ=4x+2,y(0)=
dx

*A) y =2x* 42X

B) y=2x*+3x-3
C) y=-2x>+3x+1
D) y=2x*+X

5) ﬂ=—4x+2, y(1) =
dx

A) y=—X*+Xx+3
*B) y=-2x*+2x+1
C) y=x*+x-3
D) y=2x>+Xx+2

7) (0=, (1) =—
A) f(x):-%-2,x<o

B) f(x):—

X
3
—, X>0
X

1
C) f(x):m—3,x>0

D) f(x):m—z,x<0

9) f'(x)=——, f(3)=-In3-1

A) f(x)=-3In-x, x<0
B) f(x) 2In X+ 1, x>0
C) f(x)=—2In-x+3,x<0
“D) f(x)==Inx-1,x>0

All rights re served .

» Y _ax-3,y0)-
dx

A) y=2x*+x-1
B) y=—x*+x-2
C) y=2x*+x+1
*D) y=2x*-3x+1

4) W oy 1, y(-1)=-1
dx

A) y=2x*+3x+3
B) y=x*+2x+1
C) y=x>+x-2

*D) y=—x*—x—1

6) f'(x)=-=, f(-1)=-3

A) f(x)=2In-x—-1,x<0

*B) f(x)=—2In -x—3,x<0
E)

C) fix)=—In—-x-2,x<0
D)fx) 2In =X, X< 0

8) f'(x)=—, f(-1)=-1
A) f(x)=—i+2,x<0
2x4
*B) f(x):—i—z,x<0
C) f(x):l—z,x<0
X

D) f(x):—% +2,X<0

10) f'(x) =—%, f(2)=-21n2

A) f(x):—ln—x+3,x<0
B) f(x)=—2Inx+2,x>0
*C) f(x):—21n X, X>0

D) f(x)=-In-x—-1,x<0

-1-
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11) f'(x)=- ! ,f(=3)=-In4 12) f'(x)=-— ,f(-2)=-In4+2
Xx—1 X—2
A) f(x)=-In(x+3), x>-3 *A) f(x)=-In(-x+2)+2,x<2
B) f(x)=—In(-x+2),x<2 B) f(x)=In(x+3)-2,x>-3
*C) f(x):—ln( x+1),x<1 0] f(x):—ln(x+3)+3,x>—3
D) f(x)=—2In(-x+1)+2,x<1 D) f(x)=—2In(—x+1)+3,x<1
3 12 2
13) £'(x)  f2)=— 14) £'(x) f=1)==2
X+3)° 5 —1)?
A) f(x) +2,x<1 *A) f(x)=—— —1,x<1
“B) f(x) +3,X>-3 B) f(x) +1,x<1
C) f(x) +3,X<3 C) f(x) +2,X<3
D) f(x) 2 +1,x>-1 D) f(x)=——— -3,x<3
X+1 -
15) f'(x)=——2—, f(2)=—2In 3 +2 16) W~ ogin x, y(E):—\EH
X+ 1 dx 6
A) f(x)=2In(-x+2)-2,x<2 A) y=2cos X—3
B) f(x):—ln(x+3)+1,x<3 *B) y=-2cos x+ 1
C) f(x)=—2In(x+2)+3,x>-2 C) y=2sin X
*D) f(x)=-2In(x+1)+2,x>-1 D) y=—cos X +2
17 ¥ 3ginx, y(E) ) 18) ¥ _ 26in x, y(0) = -1
dx 2 dx
*A) y=3cos Xx—-2 *A) y=—2cos X+ 1
B) y=2cos x+1 B) y=cos x
C) y=-2sinXx+2 C) y=-2cosx—1
D) y=-sin x+ 1 D) y=3cos x—2
dy . T dy s 4+\/E
19) =~ =sin x, y|—| =3 = =)=
) xS y(z) 20) gy T oS X% y(4) 2
A) y=3sin X +2 A) y=3cosx—-3
*B) y=-cosx+3 *B) y=sin X + 2
C) y=2sinx—-1 C) y=sinx+1
D) y=-3sinx-2 D) y=——cos x+ 1

-
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